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Assume red counts are known — find out if a solution exists.
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But without advice?

Great, but needs red counts advice.

Simulate red counts advice?

Attempt 1

1. Run the previous algorithm; at each stage, guess (in all
possible ways) the red count and use earliest-due-date;

2. = recursion with states (i, A), where 1 </ < nand A is the
set of currently “active” intervals;

3. + memoization/dynamic programming (DP);

Problem: exponentially many states!
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Build an earliest-due-date soln., but not “in the natural order.”

Idea
1 2 3 4 5
= {i | E,‘ < 3}
== {i| ¢ >3}
E L 2 ]
P ] Crucial:
e<3<eO
[ ]
o ————— Solve i for @ € [1, 3]
o1 recursively. (don’t
forget ®!)
Fo—
e Solve = for ® € [4, 6]
recursively.
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® c [{;, ri] N [x1, x2] for i's point, recurse left and right for each.

Time complexity: O(n°) (open: better?)
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» Agent i being in a group of size s incurs cost f(s;, s).
Goal:
» Partition that minimizes the total/maximum cost of an agent.
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